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a2 532 SN 5D
HH: Y=ol AW 4
Bl SYEHI|Y 25 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
O=Xolg2el XA 1,331,731
| 1,331,731
SESSEMAEHSXR (=) 450,000 988,500 538,500
= 300,000
& 150,000
308 AtXIEMSO0IN 450,000 88,500 361,500
= 300,000
& 150,000
01 AXIEHBLEES 450,000 88,500 361,500
O=ESSEEIR =4 450,000
= 300,000
= 150,000
SEIIXIS &e & g4t 39,126,476 38,140,300 986, 176
= 917,790
& 38,208,686
soHgel=2 K& 34,608,000 33,918,200 689,800
301 LetENZ 34,608,000 0 34,608,000
03 MBI 2 & A6 = (K THA) 34,608,000 0 34,608,000
Osgolse X 34,608,000
He=del =4 151,362 153,962 A2,600
202 04| 3,060 3,060 0
01 =WHO4HI 3,060 3,060 0
Od=gel 54 JRFH 3,060
308 AXIHMSOI& 135,702 105,702 30,000
01 AXSHHBAEELS 135,702 105,702 30,000
SEHEZES012N 2=2LE2XJ 9,702
O =olde 29 XA 96,000
O&d=gol HLSA XA 30,000
403 XX HHMSK=01A 12,600 45,200 A32,600
01 XISHHAZ2E S 12,600 45,200 A32,600
OSYEg &4 4Xl N& 12,600
Hd=sgol “s32XA 924,000 960,000 36,000
308 AXIEMSO0IA 924,000 960,000 A36,000
01 XIXIEHBALEES 924,000 960,000 A36,000
O0d=del =3 924,000
Hd=sgel =XH<H 2,112,000 2,112,000 0
301 LetENZ 2,112,000 0 2,112,000
03 MBI B & 2=612(XILTH) 2,112,000 0 2,112,000
OW& =l SXH=H 2,112,000
=& E=H g4st 75,600 75,460 140
308 AXIHMSOI& 75,600 75,460 140
01 XN BAEES 75,600 75,460 140
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a2 532 SN 5D
HH: Y=ol AW B4
Chel: SEIIXIQ 4Ol B B (SHol: &)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
| osz0ig 234 1g 75,600
Agsitd s4H1 X2 122,685 249,759 A127,074
308 NHXIEMSO0IE 122,685 249,759 A127,074
08 wEJ|20HetE 2= 122,685 249,759 A127,074
ONE st a8l A& 122,685
sZ& 3S00IssHH 28 XH(=1) 162,790 134,200 28,590
= 162,790
308 NHXIEMISO0IE 93,980 102,950 28,970
= 93,980
01 AXSHHBeEX= 93,980 102,950 28,970
OsZ& SsSotol=sHE =29 X 93,980
= 93,980
403 AXIEHMSA=Z01H 68,810 31,250 37,560
= 68,810
01 AXISHHA2E X 68,810 31,250 37,560
Os& SSs00l=sdH =29 N3 68,810
= 68,810
SEREMEHIIR(=21) 84,000 90,000 26,000
= 84,000
308 AFXIEMSOIE 84,000 90,000 26,000
= 84,000
01 AXHHBEExS 84,000 90,000 6,000
OsEFSHH XI& 84,000
= 84,000
sHBYe sLFEX NE 164,039 164,039 0
308 NXIEMS0IH 164,039 164,039
01 AXHHBELS 164,039 164,039
Osg3dgel sHdd2XN N 164,039
SESMXA(Z0) 60,000 50,000 10,000
= 60,000
308 MR M S0IH 60,000 50,000 10,000
= 60,000
01 MXHHBSEx= 60,000 50,000 10,000
OsEFMHAH 60,000
= 60,000
AN HsY 24aXA(=1) 590,000 210,000 380,000
= 539,000
= 51,000
307 212+01 ™ 150,000 0 150,000
= 105,000
T 45,000
02 2ItBAANHEX 150,000 0 150,000
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a2 532 SN 5D
HH: Y=ol AW B4
el SEIIRIQE &2 & Skt EEREE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
ONHE=E XA 150,000
= 105,000
= 45,000
308 AXISHMSOI& 420,000 210,000 210,000
= 420,000
01 AXESHNBLEEXS 420,000 210,000 210,000
OMIE=Y &4t X 420,000
= 420,000
402 SIZERH20I 20,000 0 20,000
= 14,000
& 6,000
02 QIZIXE2 A E (0| &THE) 20,000 0 20,000
ONHE=E XA 20,000
= 14,000
& 6,000
sE ASIEAM MEIA 32 JIetX4(=210) 72,000 0 72,000
= 72,000
308 RtXIHMSO0I A 72,000 0 72,000
= 72,000
01 AXIEHBAEES 72,000 0 72,000
O=Z& AM2EAN MBIA = JIBtEH 72,000
= 72,000
dE=gel s4 4,676,266 4,058,344 617,922
= 3,205,629
& 1,470,637
SHOICHH 23t 43,000 53,000 A 10,000
202 Odd| 3,000 3,000 0
01 =LH LI 3,000 3,000 0
O=ZRHH |4 JRFXA 3,000
307 21201 ™ 40,000 50,000 10,000
02 QIZHFAAIHE X 40,000 50,000 210,000
O=Z M Aot 40,000
=OICHH EHSH 200,000 200,000 0
307 2I12to| A 200,000 200,000
04 QIZHSHAIAIE B X 200,000 200,000
Ot &2ESal 200,000
dusgel 54 - N2 502,200 204,000 298,200
307 2I2+01 ™ 12,600 18,000 A5,400
02 QIHBAAIHE = 12,600 18,000 A5,400
OFEI=YR W= 12,600
308 AtXISHMSO0I A 489,600 186,000 303,600
01 AXIEHBLEES 489,600 186,000 303,600
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4= =33 SN sFD
X ZH - DI-_C,—’_I_‘.—_g géle‘_:-i‘ 80':(:\)"
‘3—;& Eé;%&' =4 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 10,000
202 04| 6,000 6,000 0
= 3,000
& 3,000
01 =i b 6,000 6,000 0
OFUESHO HREFA 6,000
= 3,000
& 3,000
HE=s20l =82 XJA(XE)(21) 2,968,872 2,364,500 604,372
= 2,636,000
< 332,872
308 AtXISHMS0IH 2,968,872 2,364,500 604,372
= 2,636,000
< 332,872
01 HXSHBAEES 2,968,872 2,364,500 604,372
o¥U=Yol I=HE XA 2,968,872
= 2,636,000
& 332,872
AQIE =8 JI8t 15 10,624,800 6,566,000 4,058,800
= 9,3%4,000
< 1,230,800
22y HE ADE =sYEX 24 3,000 1,503,000 A 1,500,000
202 04| 3,000 3,000 0
01 =WHHHI 3,000 3,000 0
OADIE =Y g2 F& 3,000
XASs AU ADEH ZHA(2D) 7,900,000 5,000,000 2,900,000
= 7,000,000
& 900,000
403 AXIHMSA=201H 7,900,000 5,000,000 2,900,000
= 7,000,000
= 900,000
01 NXISHMA2EE 7,900,000 0 7,900,000
OXGES UUE ANEE LAY 7,900,000
= 7,000,000
< 900,000
TS0l Al S4(=1) 2,701,800 0 2,701,800
= 2,394,000
== 307,800
403 MXISHHSAHE0IA 2,701,800 0 2,701,800
= 2,394,000
< 307,800
01 MIXHAM =22 L 2,701,800 0 2,701,800
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AT =m3 SN sED
Hu: =0 AW B
oSl ADIE =91 D9 2E CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OI2B0lL WX HA X4 2,701,800
= 2,3%,000
= 307,800
JJBIH0lL Al 4 20,000 20,000
308 AtXIEHMSOIH 20,000 20,000
01 IXESHBLEES 20,000 20,000
OIOetol2 JIg=ss gdst X& 20,000
AR SEMNY &35t 42,068,071 40,553,893 1,514,178
= 3,744,502
s 32,546,000
J| 117,970
= 5,659,599
=2 - =s& 39 #43t 1,806,700 1,824,400 A17,700
= 1,327,000
== 479,700
HsHE S 93,100 80,600 12,500
307 2IZto| A 93,100 80,600 12,500
02 QIZtBAAIHE X 93,100 80,600 12,500
OHA=sHE X H2HSEXA 93,100
SESSHIA A XS (HEAS) 110,000 55,000 55,000
308 XXM SO & 110,000 55,000 55,000
01 AXEHBLEES 110,000 55,000 55,000
O=ESSHMBIAL A XA (XS 110,000
HAsHE XA (=1) 1,603,600 1,688,800 285,200
= 1,327,000
== 276,600
307 2I2to| A 28,000 0 28,000
= 14,000
& 14,000
02 QIZtBAAIHE X 28,000 0 28,000
OA=sHE FXXA 28,000
= 14,000
& 14,000
308 AtXISHMSO0I A 1,575,600 1,688,800 A113,200
= 1,313,000
< 262,600
01 HXSHBAEEXS 1,575,600 1,660,800 A85,200
OA=sHE RXXNA 1,575,600
= 1,313,000
== 262,600
sE&ZI|B &E 3,328,071 4,051,063 NT722,992
= 1,321,502
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FsEMNL 253t
sE2ZI|E &F (S M)
CRA - EB. SRS - MIRAE - B ofl &t i HIDEZ
J 117,970
= 1,888,599
2oy 3 1,010,000 1,598,000 /588,000
308 AFAIEHMISOIE 10,000 356,000 A25,000
01 AXEHH B2 10,000 35,000 25,000
oMl =Xl 10,000
403 MRSk 1,000,000 1,563,000 /563,000
01 XA A= 1,000,000 1,563,000 /563,000
sEAFNY F 1,000,000
T2y 2d3t 251,000 545,000 204,000
201 &gr=2E | 6,000 0 6,000
01 At 22| 6,000 0 6,000
OsEMEF20ts MEgzzd Ie K& 6,000
202 04l 5,000 5,000
01 2HOIHI 5,000 5,000
SE2Z 83 PR 5,000
307 elztol 40,000 140,000 100,000
02 2B A E R 40,000 40,000 0
Os&E2& 82 N 40,000
308 AFXIEHMSOIE 200,000 400,000 200,000
11 BJ 2SS0 U E & EASAISH 200,000 400,000 200,000
OsHELY SEHAANAE B2 X 200,000
SsEHNEF L0 SAH ES0= K& 25,110 83,775 N\28,665
201 &gr=2E| 6,000 6,000 0
01 At2tcIH] 6,000 6,000 0
OsEMEz20t= dXH 6,000
308 AR EMS0IH 7,350 18,375 A11,025
01 AXHHBEExS 7,350 18,375 A11,025
OsEMEz20ts 8AH 7,350
403 AXIEHHSA=Z01H 11,760 29,400 17,640
01 AXISHA=2 22X 11,760 29,400 A17,640
OsEMER20E & 11,760
HEotseld s XN (9 25,500 29,883 N\4,383
= 25,500
308 NHXIEFMISOIE 25,500 29,883 N\4,383
= 25,500
01 AXSHHBAES 25,500 29,883 N\4,383
OsZEMEz20 25,500
= 25,500
JEEMAE(F1) 120,180 122,880 A2,700
Il 117,970
S 2,210
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AET SN s
I YA=ENY B2ig
Hel: sE2EI| =25 (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
308 AtXIEMSO0IN 120,180 122,880 A2,700
| 117,970
= 2,210
01 AXIEHBLEES 120,180 122,880 A2,700
(OFERT JSFSESFSUNE= 120,180
J| 117,970
& 2,210
SEMESS0IS AMRE &3H| X (=1) 1,591,934 0 1,591,934
= 1,029,655
& 562,279
308 AtXIHMS0IH 1,591,934 0 1,591,934
= 1,029,655
& 562,279
01 AXESHNBLEEXS 1,591,934 0 1,591,934
OsEMEFL0E AIRE 34| X 1,591,934
= 1,029,655
< 562,279
sENEs202 280t X(21) 77,000 0 77,000
= 72,000
== 5,000
307 2I2to| A 10,000 0 10,000
= 5,000
& 5,000
02 QIZtABAAIHE X 10,000 0 10,000
Os=sENMExz20tE 28t X 10,000
= 5,000
= 5,000
308 AtXISHHMSO0IH 67,000 0 67,000
= 67,000
01 XXHHBAELS 67,000 0 67,000
OsENMExzL0tE 28t K& 67,000
= 67,000
ANActe sE22(=1) 198,000 0 198,000
= 165,000
< 33,000
308 AXISHMSOIA 198,000 0 198,000
= 165,000
= 33,000
01 AXSHBLEES 198,000 0 198,000
oxNgHe sE=2Z 198,000
= 165,000
< 33,000
s0HE0E AHIA NS (=) 29,347 0 29,347
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42 532 SN 5D
I YA=ENY B2ig
Hel: sE2EI| =25 (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 29,347
308 AXIHMSOIE 29,347 0 29,347
= 29,347
01 AXESHNBLEEXS 29,347 0 29,347
OsUEUY MUIA IS 29,347
= 29,347
SEXNG e 36,933,300 34,678,430 2,254,870
= 1,096,000
s 32,546,000
o= 3,291,300
JIgs M=sE 0t=8HsD| 990,800 3,557,930 2,567,130
201 LEr2AH| 24,000 24,000 0
01 At22elt| 24,000 24,000 0
oxzH 28 ¥ =012 M 15,000
QJgE MsE &3 9,000
202 04| 6,800 8,930 A2,130
01 =WO4HI 6,800 8,930 A2,130
OJ1gE MsE OIEts)| =8 6,800
403 XIS MSAH=01 A 960,000 3,525,000 22,565,000
01 MXISHHMAI=2E X 960,000 3,525,000 A2,565,000
O=0ts 2&H XI& 960,000
sEXNGNY 2 22,500 8,500 14,000
201 B2 AY| 8,500 8,500 0
01 AtR2eltl 8,500 8,500 0
SEXNGNEAY N2 29 8,500
307 2I2t01 A 14,000 14,000
02 QIRHE&AIHE = 14,000 14,000
O=Z0ts 2ol 24 ZZ2RE 14,000
FUFE=EZEHSRNE (sEEHSXNAEH)(Z1) 120,000 120,000 0
= 60,000
& 60,000
307 QI2H01 ™ 120,000 120,000 0
= 60,000
& 60,000
02 QIZHE &AL E = 120,000 120,000 0
OFLUFE ==L (SES2 LSRR
HIE) 120,000
= 60,000
= 60,000
SESAMXELSH(LEXIR)(=2) 17,160,000 11,559,000 5,601,000
s 17,160,000
403 XX SHHMSKZ01AM 17,160,000 11,559,000 5,601,000
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42 532 SN 5D
I YA=ENY g
Bl sEXS HE (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

s 17,160,000

01 XISHHAIZ2E S 17,160,000 11,559,000 5,601,000
O=sESAXNEH3HLEHKIR) 17,160,000
s 17,160,000

HIOIE MHIA HE Z4(21) 575,000 105,000 470,000
iy 575,000

403 KX M S KH=201& 575,000 105,000 470,000
s 575,000

01 AIXIHAA2EE 575,000 105,000 470,000
OHIOIE MBIA HE =4 575,000
s 575,000

ANZE2A3H(=1) 1,402,000 1,001,000 401,000
s 1,402,000

308 AtXIEMSO0IA 1,402,000 1,001,000 401,000
s 1,402,000

01 IXSHHBAEES 1,402,000 1,001,000 401,000
OAlZHE 23} 1,402,000
s 1,402,000

sE AMEY ZAANY(Z1) 4,410,000 8,330,000 23,920,000
s 4,410,000

403 RtXIHMS K201 A 4,410,000 8,330,000 23,920,000
s 4,410,000

01 XISHHMAIZ2E X 4,410,000 8,330,000 23,920,000
Os& dgd Zela 4,410,000
s 4,410,000

I ZMENESH(ZD) 8,864,000 8,482,000 382,000
s 8,864,000

403 XIS MS K201 8,864,000 8,482,000 382,000
s 8,864,000

01 XISHHMAZ2E X 8,864,000 8,482,000 382,000
QI =MENE=RY 8,864,000
s 8,864,000

SESSEAY 8435 KA (=21) 1,036,000 1,070,000 A34,000
= 518,000
& 518,000

307 2I2tol A 1,036,000 1,070,000 A34,000
= 518,000
= 518,000

02 QIHBAAIHE X 1,036,000 1,070,000 A34,000
O==EsSetty 843 XA 1,036,000
= 518,000
< 518,000
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CERA - B GSI(B) - NSAIY - BAS i fimE==t
ERSAEEE FHXAAR(=2D) 135,000 135,000 0
s 135,000
403 XXM S KH=201H 135,000 135,000 0
s 135,000
01 XtXIEHHI A= 2 2= 135,000 135,000 0
O=ZER/FALEE LA 135,000
s 135,000
SEMA SAX|2AIE (=21) 100,000 120,000 A20,000
= 50,000
& 50,000
307 QI2H01 M 60,000 70,000 A 10,000
= 30,000
= 30,000
02 QIRHE &AL E 60,000 70,000 10,000
O=sEMY SHAtXIAAS 60,000
= 30,000
& 30,000
308 AtXIEMSO0IA 40,000 50,000 A10,000
= 20,000
= 20,000
11 SISO HeHE & E AL 40,000 50,000 10,000
O=ZM SHARIAA 40,000
= 20,000
= 20,000
2 - =& RE100 ASXE At (=21) 468,000 0 468,000
= 468,000
403 XX HMS K201 A 468,000 0 468,000
= 468,000
01 XISHHAIZE X 468,000 0 468,000
=% - =& RE100 & SKIE At 468,000
= 468,000
g sE=0ls =4 1,650,000 ,650,000
308 AXIHMSOIA 150,000 150,000
01 XN BAELS 150,000 150,000
=E0S 88 Z2XE 150,000
403 AHXIHMS =01 A 1,500,000 0 1,500,000
01 MXISHHMA2EXE 1,500,000 0 1,500,000
O=Z0t= 88 ZZ2XE 1,500,000
HY2AIHH(sHW) 59,634 62,506 N2,872
JlE23&l 59,634 62,506 N2,872
FM2F J|2Z | 59,634 62,506 AN2,872
201 LEH2AH| 39,342 42,130 AN2,783




AETE B SN s
M AH2AZH(=sFD)
&el: J|=Z| (S ®SA)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AtR2eltl 39,342 42,130 AN2,788
ORN2Z AtR2elt| 39,342
202 04| 8,892 9,576 AG84
01 =WO4HI 8,892 9,576 634
FA2E UL 8,892
203 R F&| 11,400 10,800 600
01 J|22H S =8| 6,600 6,600 0
o=% 6,600,000& 6,600
M FA2IHRFE| 4,800 4,200 600
©2592! 0|3t 400,000& x 128 4,800
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